## **MESEBERG HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

**Brood Year:** 2009

**Species:** BLACK CRAPPIE

Run: NA

**Stock:** WASHINGTON - GENERAL

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	200	100
Planted	140,000	1,400

Page 1

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

## **Estimated Release Data**

Tuesday, August 04, 2009

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tag Type
10/2009	10/2009	140,000	100.0	1,400	JUVENILE	WASHINGTON - GENERAL		

Memo:

## **MESEBERG HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

**Brood Year:** 2009

**Species:** RAINBOW

Run: NA

**Stock:** SPOKANE HATCHERY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	215,000	125
Planted		

# **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	12/2009	12/2009	SPOKANE HATCHERY	115,000			EGGS EYED
Received	02/2010	02/2010	COLUMBIA BASIN HATCH	100,000	800.0	125	JUVENILE

# **Estimated Release Data**

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tag Type

Memo: Used as warm-water forage.

## **MESEBERG HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

**Brood Year:** 2009

**Species:** RAINBOW

Run: NA

**Stock:** SPRING CR-GOLDENDALE

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	415,000	375
Planted		

# **Estimated Brood Data**

Egg Take Goal

# **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	11/2009	11/2009	GOLDENDALE HATCHERY	115,000			EGGS EYED
Received	12/2009	12/2009	COLUMBIA BASIN HATCH	200,000	800.0	250	JUVENILE
Received	01/2010	01/2010	NACHES HATCHERY	100,000	800.0	125	JUVENILE

## **Estimated Release Data**

						a.		
Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tag Type

Memo: Warm Water Forage.

## **MESEBERG HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

**Brood Year:** 2009

**Species:** TIGER MUSKIE

Run: NA

Stock: MN- MINNESOTA STOCK

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	6,000	1,500

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tag Type
05/2010	05/2010	6 000	4.0	1 500	IIIVENILE	WASHINGTON - GENERAL		

Memo: Fish released at 12 inches. Surplus inventory will be made available for fall planting or Idaho Fish and Game. Must be quarantined for testing.

## **MESEBERG HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

**Brood Year:** 2009

**Species:** WALLEYE

Run: NA

**Stock:** WASHINGTON - GENERAL

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	20,000	

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

## **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tag Type
10/2009	10/2009	20 000			IIIVENILE	LIBERTY LK (SPOK) (57)		

Memo: Adults collected at Moses Lake. Released at 4 to 6 inches.

## **MESEBERG HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

**Brood Year:** 2010

**Species:** TIGER MUSKIE

Run: NA

Stock: MN- MINNESOTA STOCK

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	25,000	1,667
Planted	6,000	1,500

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	05/2010	05/2010	MN- MINNESOTA DNR	25,000	15.0	1,667	EGGS EYED

# **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tag Type
05/2011	05/2011	6,000	4.0	1,500	JUVENILE	WASHINGTON - GENERAL		

Memo: Fish released at 12 inches. Surplus inventory will be made available for fall planting or Idaho Fish and Game. Must be quarantined for testing.

## **MESEBERG HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

**Brood Year:** 2010

**Species:** WALLEYE

Run: NA

**Stock:** WASHINGTON - GENERAL

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake	2,500,000	
Shipping		
Receive		
Planted	20,000	

## **Estimated Brood Data**

**Egg Take Goal** 2,500,000

## **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tag Type
10/2010	10/2010	20 000			IIIVENILE	LIBERTY LK (SPOK) (57)		

Memo: Adults collected at Moses Lake. Released at 4 to 6 inches.

## **NACHES HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

**Brood Year:** 2007

**Species:** RAINBOW

Run: NA

**Stock:** SPRING CR-GOLDENDALE

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	7,000	6,000

# **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
--------------------	------------	-----------------	----------	--------	-----	-------------------------

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tag Type
10/2009	11/2009	2,000	2.0	1,000	JUVENILE	YAKIMA CO LAKES		
03/2010	05/2010	2,500	1.0	2,500	JUVENILE	YAKIMA CO LAKES		
03/2010	05/2010	2,500	1.0	2,500	JUVENILE	KITTITAS CO LAKES		

## **NACHES HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

**Brood Year:** 2008

**Species:** RAINBOW

Run: NA

**Stock:** SPRING CR-GOLDENDALE

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	Total Pounds
EggTake		
Shipping		
Receive		
Planted	131,164	51,666

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

## **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tag Type
10/2009	10/2009	10,000	5.0	2,000	JUVENILE	YAKIMA CO LAKES		
10/2009	10/2009	10,000	5.0	2,000	JUVENILE	KITTITAS CO LAKES		
03/2010	06/2010	58,290	2.5	23,316	JUVENILE	YAKIMA CO LAKES		
03/2010	06/2010	5,832	2.5	2,333	JUVENILE	BENTON CO LAKES		
03/2010	06/2010	40,042	2.5	16,017	JUVENILE	KITTITAS CO LAKES		
10/2010	11/2010	2,000	2.0	1,000	JUVENILE	YAKIMA CO LAKES		
03/2011	05/2011	2,500	1.0	2,500	JUVENILE	YAKIMA CO LAKES		
03/2011	05/2011	2,500	1.0	2,500	JUVENILE	KITTITAS CO LAKES		

Memo:

## **NACHES HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

**Brood Year:** 2009

**Species:** CUTTHROAT **Run:** WESTSLOPE

Stock: TWIN LAKES CR45.1140

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive		
Planted	12,000	24

## **Estimated Brood Data**

Egg Take Goal

# **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

## **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tag Type
07/2009	08/2009	6,000	500.0	12	JUVENILE	YAKIMA CO LAKES		
07/2009	08/2009	6,000	500.0	12	JUVENILE	KITTITAS CO LAKES		

## **NACHES HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

**Brood Year:** 2009

**Species:** GOLDEN TROUT

Run: NA

**Stock:** CALIF-MT WHITNEY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	2,350	5
Planted	2,135	4

Page 11

# **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Receive	<b>Start Date</b>	<b>End Date</b>	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2009	10/2009	CHELAN HATCHERY	2,350	500.0	5 JUVENILE

# **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tag Type
10/2009	10/2009	2,135	500.0	4	JUVENILE	YAKIMA CO LAKES		

1	Λ/	 20
	v	11()

## **NACHES HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

**Brood Year:** 2009

**Species:** KOKANEE

Run: NA

Stock: LK WHATCOM STOCK

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	300,000	
Planted	250,000	417

# **Estimated Brood Data**

Egg Take Goal

# **Estimated Transfer Data**

<b>Shipped or Receive</b>	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2010	01/2010	LK WHATCOM HATCHERY	300,000			EGGS EYED

# **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tag Type
05/2010	05/2010	250,000	600.0	417	JUVENILE	KACHESS LK (KITT)		

## **NACHES HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

**Brood Year:** 2009

**Species:** RAINBOW

Run: NA

**Stock:** SPRING CR-GOLDENDALE

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	Total Pounds
EggTake		
Shipping	100,000	125
Receive	400,000	
Planted	197,414	62,432

# **Estimated Brood Data**

Egg Take Goal

Memo:

# **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2010	01/2010	MESEBERG HATCHERY	100,000	800.0	125	JUVENILE
Received	01/2010	01/2010	GOLDENDALE HATCHERY	400,000			EGGS EYED

## **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tag Type
05/2010	06/2010	17,500	100.0	175	JUVENILE	YAKIMA CO LAKES		
05/2010	06/2010	17,500	100.0	175	<b>JUVENILE</b>	KITTITAS CO LAKES		
10/2010	10/2010	10,000	5.0	2,000	<b>JUVENILE</b>	YAKIMA CO LAKES		
10/2010	10/2010	10,000	5.0	2,000	<b>JUVENILE</b>	KITTITAS CO LAKES		
03/2011	06/2011	58,290	2.5	23,316	<b>JUVENILE</b>	YAKIMA CO LAKES		
03/2011	06/2011	5,832	2.5	2,333	<b>JUVENILE</b>	BENTON CO LAKES		
03/2011	06/2011	31,250	3.0	10,417	JUVENILE	KITTITAS CO LAKES		
03/2011	06/2011	40,042	2.5	16,017	JUVENILE	KITTITAS CO LAKES		
10/2011	11/2011	2,000	2.0	1,000	JUVENILE	YAKIMA CO LAKES		
03/2012	05/2012	2,500	1.0	2,500	JUVENILE	KITTITAS CO LAKES		
04/2012	04/2012	2,500	1.0	2,500	JUVENILE	YAKIMA CO LAKES		

## **NACHES HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

**Brood Year:** 2010

**Species:** CUTTHROAT **Run:** WESTSLOPE

Stock: TWIN LAKES CR45.1140

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	15,000	
Planted	12,000	24

# **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	<b>Start Date</b>	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	05/2010	05/2010	CHELAN HATCHERY	15,000			EGGS EYED

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tag Type
07/2010 07/2010	08/2010 08/2010	6,000 6,000	500.0 500.0	12 12	JUVENILE JUVENILE	YAKIMA CO LAKES KITTITAS CO LAKES		

## **NACHES HATCHERY**

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

**Brood Year:** 2010

**Species:** RAINBOW

Run: NA

**Stock:** CALIF-MT WHITNEY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	Total Pounds
EggTake		
Shipping		
Receive	15,000	
Planted	10,000	20

# **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	<b>Start Date</b>	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	03/2010	03/2010	EELLS SPRINGS	15,000			EGGS EYED

# **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tag Type
08/2010 08/2010	08/2010 08/2010	5,000 5,000	500.0 500.0	10 10	JUVENILE JUVENILE	YAKIMA CO LAKES KITTITAS CO LAKES		

## PRIEST RAPIDS HATCHERY

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

**Brood Year:** 2009

Species: CHINOOK

Run: FALL

**Stock:** PRIEST RAPIDS (36)

**Brood Origin:** MIXED

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake	11,808,000	
Shipping	3,701,100	
Receive		
Planted	6,700,000	134,000

# **Estimated Brood Data**

**Egg Take Goal** 11,808,000

# **Estimated Transfer Data**

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	01/2010	01/2010	REG 3 ED COOPS	550			EGGS EYED
Shipped	01/2010	01/2010	REG 2 ED COOPS	550			EGGS EYED
Shipped	12/2010	12/2010	BONNEVILLE HATCHERY	3,700,000			EGGS EYED

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tag Type
06/2010	06/2010	4,800,000	50.0	96,000	JUVENILE	COLUMBIA R - GENERAL	AD	
06/2010	06/2010	1,700,000	50.0	34,000	<b>JUVENILE</b>	COLUMBIA R - GENERAL	AD	
06/2010	06/2010	200,000	50.0	4,000	<b>JUVENILE</b>	COLUMBIA R - GENERAL	AD	✓

Memo: 1.7 million for John Day Mitigation

## **REG 3 ED COOPS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTH CENTRAL WASHINGTON

**Brood Year:** 2009

Species: CHINOOK

Run: FALL

**Stock:** PRIEST RAPIDS (36)

**Brood Origin:** MIXED

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	550	
Planted		

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2010	01/2010	PRIEST RAPIDS HATCHERY	550			EGGS EYED

## **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tag Type
------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	----------

Memo: McLoughlin Middle School Coop. Project and Quincy HS

## **REG 3 ED COOPS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS SOUTH CENTRAL WASHINGTON

**Brood Year:** 2009

**Species:** RAINBOW

Run: NA

**Stock:** CALIF-MT WHITNEY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	1,900	95
Planted	1,600	320

# **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	10/2009	10/2009	COLUMBIA BASIN HATCH	1,900	20.0	95	JUVENILE

# **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tag Type
04/2010	04/2010	1,600	5.0	320	JUVENILE	GRANT CO LAKES		

Memo: Kamiakin High School.

## **REG 3 ED COOPS**

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

SOUTH CENTRAL WASHINGTON

**Brood Year:** 2010

**Species:** RAINBOW

Run: NA

**Stock:** CALIF-MT WHITNEY

**Brood Origin:** HATCHERY

**Integrated/Segregated:** 

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	1,900	95
Planted	1,600	320

# **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	10/2010	10/2010	COLUMBIA BASIN HATCH	1,900	20.0	95	JUVENILE

# **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tag Type
04/2011	04/2011	1,600	5.0	320	JUVENILE	GRANT CO LAKES		

Memo: Kamiakin High School.

## RINGOLD SPRINGS HATCHERY

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

**Brood Year:** 2009

Species: CHINOOK

Run: FALL

**Stock:** PRIEST RAPIDS (36)

**Brood Origin:** MIXED

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	3,500,000	35,000
Planted	3,450,000	57,500

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive	Start Date	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	05/2010	05/2010	BONNEVILLE HATCHERY	3,500,000	100.0	35,000	JUVENILE

# **Estimated Release Data**

Start Date	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tag Type
06/2010	06/2010	3,250,000	60.0	54,167	JUVENILE	COLUMBIA R - GENERAL	AD	
06/2010	06/2010	200,000	60.0	3,333	JUVENILE	COLUMBIA R - GENERAL	AD	✓

Memo: Up River Brights. Fish transferred from Little White Salmon NFH or Bonneville (ODFW)

## RINGOLD SPRINGS HATCHERY

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

**Brood Year:** 2009

**Species:** STEELHEAD **Run:** SUMMER

Stock: WELLS HATCHERY

**Brood Origin:** MIXED

**Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
EggTake		
Shipping		
Receive		
Planted	180,000	36,000

## **Estimated Brood Data**

**Egg Take Goal** 

## **Estimated Transfer Data**

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

## **Estimated Release Data**

<b>Start Date</b>	End Date	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tag Type
04/2010	05/2010	180 000	5.0	36 000	IIIVENILE	COLUMBIA R - GENERAL	AD+RV	

Memo: On-station release at 4-8 fpp.

## RINGOLD SPRINGS HATCHERY

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### SOUTH CENTRAL WASHINGTON

**Brood Year:** 2010

**Species:** STEELHEAD **Run:** SUMMER

Stock: WELLS HATCHERY

**Brood Origin:** MIXED

**Integrated/Segregated:** INTEGRATED

	Total #	<b>Total Pounds</b>
EggTake		
Shipping		
Receive	250,000	357
Planted	180,000	36,000

# **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

<b>Shipped or Receive</b>	<b>Start Date</b>	<b>End Date</b>	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	05/2010	05/2010	WELLS HATCHERY	250,000	700.0	357	JUVENILE

## **Estimated Release Data**

<b>Start Date</b>	<b>End Date</b>	Num Release	FPP	<b>Total Pound</b>	Life Stage	Release Site	Mark Type	Tag Type
04/2011	05/2011	180,000	5.0	36,000	JUVENILE	COLUMBIA R - GENERAL	AD+RV	

Memo: On-station release at 4-8 fpp.